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CERTIFICATE IN COMPUTING (CIC) 

Term-End Examination 

June, 2011 

CIC-05 : MICROSOFT OFFICE 

Time : 2 hours 	 Maximum Marks : 100 

Note : There will be two sections, namely, Section - A and 

Section - B. All questions in Section - A are 

compulsory. From Section - B, any three questions 

need to be answered. 

SECTION - A 

Note : Questions numbered 1 to 10 are multiple choice questions. 

Indicate the correct choice in answer sheet. 

	

1. 	Every PC requires  	 2 

(a) Operating System Programs. 

(b) Application Programs. 

(c) Both (a) and (b). 

(d) None of the above. 

	

2. 	The following is a menu of Micorsoft Word. 	2 

(a) FILE 
	

(b) EDIT 

(c) VIEW 
	

(d) All of the above. 
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3. In MS-Word, a document can be searched for 	2 
	using The find and Replace command. 

(a) specific characters 

(b) specific formats 

(c) specific styles 

(d) All of the above. 

4. 	MS-Word supports a set of special characters and 	2 
symbols which cannot be entered through the 
keyboard. To insert these special characters 
choose : 

(a) Insert symbol. 

(b) Insert --> Table. 

(c) Insert —› Chart. 

(d) All of the above. 

5. 	It is possible to determine how strictly MS-Word 	2 
observes grammar and style rules by using : 

(a) tables 	(b) charts 

(c) rule groups 	(d) none of the above 

6. 	In MS-Word, selecting format-font opens 	2 
	font dialog box. 

(a) two table 	(b) three table 

(c) one table 	(d) All of the above. 
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7. When 	option is chosen, each window 	2 
is completely visible in the total workspace which 
is divided evenly to all the windows. 

(a) tiled 	(b) horizontal 

(c) vertical 	(d) None of the above. 

8. In spreadsheets _ 	_ is a kind of 	2 
recalculation. 

(a) automatic 	(b) manual 

(c) both (a) and (b) (d) None of the above 

9. In spreadsheets, a formula always starts with 	2 
	 sign. 

10. The recalculation of the complete worksheet is 	2 
done only on pressing 	key. 

(a) Fl 
	

(b) F2 

(c) F3 
	

(d) F9 

11. Explain the process of formatting a paragraph 10 
using MS-Word. 

12. How controls are created on the worksheet ? 10 
Explain the steps in sequence. 
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SECTION-B 

NOTE : Answer any three questions from the following. 

13. What is meant by "Grouping the object" ? What 20 

are its advantages ? How are objects grouped in 

MS-Power Point ? 

14. How to change column width and row height of 20 

a Worksheet ? 

15. What are document templates ? 	 20 

16. What is meant by MailMerge ? What are its 20 
advantages ? 
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